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THIRD SEMESTER (SCHEME-2006)
MODERN OFFICE MANAGEMENT
COST ACCOUNT
Time : Three Hours Maximum Marks : 100

Note : i) Attempt all the five questions selecting one
question from each unit.

TS TS A U W2 I gY Wt ara Hel
F IR G

11) All questions carry equal marks.
Tt weT & 3iF WHH &I

i) In case of any doubt or dispute, the English
version question should be treated as final.

&t ft ypR & Heg ryar faare H Ruafa
H 3t wmer & " &t Ay A SR

Unit-1/3&06 - 1
1. What is meant by Cost Accounting? In what essential
aspect does cost account differ from Financial
Accounting?

AN Eied &1 aar A 87 AR A
faey et # faftg saies & Fysar w@ar 272
Or/3ean
Discuss in brief the objects and benefits of cost

Accounting.
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Unit - 11/ 3&T - 11
2. What are cost sheets? Distinguish between a cost sheet
and a statement of cost.

uRedd o3 Far g2 9Reqy o3 91 ofra fRexor &
3R g1 |
Or/3gan

The following particulars are obtained from the
records of Mirza Brothers for the year 2012:

Rs.
Cost of materials 1,50,000
Direct wages 1,25,000
Factory overheads 75,000
Administrative overheads 84,000
Selling overheads 56,000
Distribution overheads 35,000
Profit 1,05,000

The work order has to be executed in 2013 which will
need raw materials worth Rs. 4000 and wages
Rs. 2500. It is expected that the rate of factory over
heads would go up by 20% and that of selling overheads
by 12'2% while the rate of distribution overheads is
expected to go down by 10%. Administrative
overheads will remain constant. At what price the
product be sold so as to earn a profit of 15% on selling
price? Factory overheads is based on direct wages
and remaining overheads on factory cost.
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T 2012 & forg Aol s & ol ¥ MefaiReg
fareor wmw fa o

.
arft & dArra 1,50,000
et HoTe 1,25,000
PREMT IqReqy 75,000
EOIGIGED IRy 84.000
fasma SuReay 56,000
faa=or Safega 35,000
i 1,05,000

¥ 2013 ® Y& BTN BT WHIeH B & s
fere 4000 . &1 wrft For 2500 TR B TR
&1 SrasFSar gt YT AN e o @
BRI YR B R 20% A 98 TR a1 ey
SURET &t R 12%% W 92 WRA S1fF fagwor
SuRed H R 10% ¥ = TF @1 3 2
neE a RR R ST B R g5 W
=1 ST Y BB Jea W 15% &1 a1 81?7 RAEmT
SURETT Feel Aoigd! UR STaRe & o 99 SuRey
AT SuReay wR smnfa g1
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Unit - 111 /318 - 111

. What are the different methods of calculating profit

on an incomplete contract? Give illustrations.

T 3ol 3% W A U A 1 fafd faftrt @
2? Sargwur
Or/34en

The a head is the summarised record as on 31% March,
2012 of all transactions relating to contract
completed this year.

| Rs. Rs.
‘Material purchased 3000 | Wages paid 4000
'}Malerial supplied

from stores 1200 | Direct Expenses 500
|Material return
'to store 700 | Contract price 15000

Works over head (25% of direct wages)
Office overhead (10% of prime cost)
Prepare the contract Account.

31 7 2012 @ T &5 W TR WA FGER A
vifarm faawor fRwaforiRed & S 30t a9 § gof fosar mram am:

. .

et 3000 | QR fTEE 4000
o ¥ wrElt smgfet 1200 | woadt g 500
i 1 areEl A 700 | 3% I 15000
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BRETT YR (FF&l HAG BT 25%)
wrafad SuRea (a0 a0 @1 10%)
31 @Al dar Fifdg

Unit-1IV /@18 - IV
State the meaning and treatment of normal and

abnormal wastage.

A &1 AT IJAHT & &7 3ref Ud TagR &)
Fard |
Or/3gan

Prepare the process "One" Account from the
following showing the treatment of normal wastage,
abnormal wastage and transfer price to process "Two':

Material consumed Rs. 2400
Labour Rs. 2800
Manufacturing expenses Rs. 800
Input @ Rs. 2 per unit 1000 units
Normal wastage 5% of input
Actual output 940 units

Sale value of normal wastage Rs. 4 per 10 units.

Y

L

(6)
Frefefea wammel & ofsr “ve” @ swTse
forad = &, s el o Wi ey §
gedTaRuT fe@m T g

Eebii i) 2400 %.
3 2800 %.
Rafoft @ 800 %.
3er 2 w9 ufey g1 1000 3HTE
WHR &g et &1 5%
IRsfaE ST 940 3HTE

&g F1 IAfE g7 WY 10 3o W 4 %,

Unit-V/3&1E - V

Lhere is a difference between the profit shown by
cost Accounts and the profit shown by financial
accounts of a business concern. Explain the reasons

for the difference. Give an example also.

% AT & aRerg @ gr e 1y 94g

am™ g g oar gr i 17 g oy # araR 2

39 AR & DRI B FHEATSY) T IarawoT ot Sifdrog
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Or/341

The net profit of the My Car LTD appeared at
Rs. 75970 as per financial records for the year ended
31% Dec, 2012. The cost books, how ever showed a
net profit of Rs. 75400 for the same period. The
difference was due to the following facts: Closing
stock of finished goods in financial books was valued
at Rs. 14500 while the same in cost books was
Rs. 14100. Stores adjustment credit in the financial
books was Rs. 570. The work-in-progress in the
financial books was valued at Rs. 9600 and in cost
bocks of Rs. 10000. Prepare reconcilnation statement.

mwﬁr.mﬂwmﬁﬁawﬁﬁm o
2012 Y T a4 BT 75970 %, A1 IRT TP
4 98 O A S arafdy &1 75400 ¥, AT R
fFefRaa sroll @ ar: AffT 7e @1 sifew w@ s
faftrr gl F 14500 . @1 geaifea o1 wefs 77
TReaa el # 14100 . &7 AT Rk gt o
I wHrEIoH ($6f32) 570 %. @1 ol Rt gyt
¥ wrd # o arf 9600 . @1 qeifea o
AT AR QEeIepl 5 10000 . BT AT GHEH G
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